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SUMMATIVE ASSESSMENT - IT (2016-17)
ENGLISH COMMUNICATIVE

Class - TX
Maximum Marks: 70 Time: 3 hours

Instruections :
The question paper is divided into Threesections.

Section A : Reading 20 marks
Section B : Writing& Grammar 25 marks
Section C : Liternture& Long Reading Text 25 marks

SECTION A(READING & OTBA:20Marks)

Read the passage carefully and answer the questions that follow : 5

1. Today, India looks like it is on course to join the league of developed nations. It is beginning to
establish a reputation not just as the technology nerve centre and back-office to the world,
but also as its production centre. India's secularism and democracy serve as a role model to
other developing countries. There is great pride in an India that easily integrates with a global
economy, yet maintains a unique cultural identity.

2 India is the world's largest milk produce;. thanks to Operation Flood, an innovative scheme to
increase milk production undertaken by the National Dairy Development Board, We now
produce 13.1% (74 million tonnes) of world milk output, which is valued at Rs. 70,000 crore,
The United States comes second with 13% followed by Russia, Germany, France and Brazil.
But the Indian Diary Industry is likely to face problems because of World Trade Organization
(WTOQ) agreement, which has opened up trade in dairy products. Imported dairy products are
now flooding the Indian market, affecting local producers,

=) These imported products have prices that are lower than those of Indian products because
they receive subsidies in their own countries. This gives imported dairy products an unfair
advantage over the local products. The cost of milk production in India is the lowest in the
world, with New Zealand coming second. These are also the only two countries, which do not
subsidize milk production. In order to meet the challenge they are facing Indian dairy
tompanies are now concentrating on improving the quality of products.

1.1 Why does India have the largest milk production in the world ?

1.2 Why do the imported dairy products pose a threat to local producers 7

13 Why is India expected to join the league of developed nations ?

1.4 What is the chief role of WTO ?

1.5 Pick out a word from the passage which means the same as 'featuring new methods'. (Para 2)

Read the passage given below and answer the questions that follow : -

Poseidon : the Greek God of the seas
1. One of the major deities in Greek mythology, Poseidon was the supreme ruler of the seas.
The Romans called him Neptune. An awesome, unruly, and powerful God, Poseidon
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was associated with storms, earthquakes, and some other violent forces of nature. When
angry, he could stir the sea to a fury, But he could also calm the raging waters with just a
glance. One of his titles, Enosichthon (Earth-shaker), reflected his ability to cause
earthquakes by striking the earth and mountains with his trident. Another name for
Poseidon was Hippios (lord of horses), and the God presented horses as gifts to various
individuals.
Poseidon rode the waves in a swift chariot drawn by golden sea horses. He used his
mighty trident not only to provoke earthquakes and stir ocean waves but also to raise
new land from beneath the sea or cause existing land to sink below the waters. Although
often helpful to humans-protecting sailors at sea, guiding ships to safety, and filling nets
with fish-Neptune could be a tetrifying figure as well, Quick to anger, he directed his
fury at anyone who acted against him or failed to show proper respect.
Poseidon's Siblings : The son of the Titans Cronus and Rhea, Poseidon was swallowed at
birth by his father. He was saved by his brother Zeus who tricked Cronus into taking a
potion that caused him to vomit up Poseidon and the other siblings - Hades, Demeter,
Hera, and Hestia. Poseidon later joined Zeus and Hades in overthrowing Cronus, and
the three brothers then divided the universe among themselves, Zeus received the sky,
Hades ruled the underworld, and Poseidon became God of the seas.
(a) What is the Roman name of Poseidon ?
(b) What was his trident useful for ?
(c) How was Poseidon saved by Zeus after birth ?
(d) How did the brothers divide the universe among themselves ?

(e) What is the meaning of the word provoke as used in the passage (paragraph -

(Open Text: 10 Marks)

(* Please ensure that open text of the given theme is supplied with this question paper)

Theme: Nurturing Compassionate Citizens

Not only does every animal need its own sound, but every animal needs to be treated in its
own special way. Some of you do own animals and know exactly how to care for them. If you
own a dog, what do you need to do in order «: take care of it? How about other animals like
cat, cow, fish, ete. ? How do you care for them?

The dogs in the Army Regiment truly prove to be brave and loyal companions of the soldiers,
Wrile a speech presenting your views on the unique qualities of these dogs.

SECTION B(WRITING& GRAMMAR: 25 Marks)



3 Write a diary entry in 100 - 120 words based on the given cue. 5
Technology helps to connect with the world but separate us from our family and friends.
Virtual world has taken us away from our near and dear ones.

4 Read the following story prompts and weave a stoty, in 150-200 words. The opening line has 10
been given below :

Rhea hurried towards the bus stop ...........
Value Points :

s The rain pounded her head
. She became pale
. But her face had been wet long before the rain touched it
. She had been crying and still was ............. (What happened next?)
5 Choose the most appropriate options from the ones given below to complete the following 3
paragraph.
While Marilyn Morroe’s star burned out early, she (@) have a period of great

success in her life. Despite a rough upbringing and (b) told by modeling agents
that she shouldconsider being a secretary, Monroe became a pin-up, model and actress that

still () a chord with people today.
(a) (i) did not (i) did (i) will (iv) can
(b) (1) when (ii) as (iii) being (iv)  been
(c) (1) strike (i)  strikes (ui)  struck (iv) with strike
6 The following passage has not been edited. There is one error in each line. Write the incorrect 4
word and the correction in the space provided against the correct blank number.
Error Correction
The pump, injects pain killing drugs in the (a) .
body. ’ractised as the super specialized branch in (b)
medicine, pain management offers relief for (€)
patients assailed in severe pain - ()
7 Look at the words/ phrases given below and rearrange to form meaningful sentences. 3
a. an axon/ that sends / messages/every cell/ has
b, communication/every/cells/ to/ transmits/ cell/ other
& these cells/there are/within/ dopamine/and/serotin levels.
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SECTION C (LITERATURE: 25 Marks)

Read one of the extracts given below and answer the questions that follow:

8 "That's right, Harold", he said, reviving, "I was to have fought an American named Murphy at 3
the National next Monday, but I ain't going to now, not if they come to me on their bended
knees. Not if the king of England comes to me on this bended knees.

(a)  Why was Bill so adamant not to take part in the boxing match ?
(b)  What made Bill change his mind ?
(c) What is meant by 'reviving'?

OR

I touch gently at the windows with my

Soft fingers, and my announcement is a

Welcome song. All can hear, but only

The sensitive can understand.

(a)  How do the people react to the arrivai of the rain ?

(b)  Why can only 'the sensitive' people understand the rain ?

(c) Write the word from the passage which is the opposite of the word 'indifferent.

Answer the following questions in 30 to 40 words each: (2+2+2+2)

9a How did Colonel Allyn react when he met Pescud ? 2

9b What perils did the poet spot ? (Oh, I Wish I'd Looked After Me Teeth”) 2

9 Explain : “strange eventful history’. (The Seven Ages)
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Why does the poet gaze up at the dentist in despair ? ?

Answer one of the following questions in about 80-100 words

‘A leopard cannot change his spots.” In the light of the given proverb, comment on the 4
Professor’s attitude in the cookhouse in the story, “The Man Who Knew Too Much’ reflecting

OR

What does the Bishop imply when he says that the human body is the temple of the living 4
God ? Comunent on the values reflected through the Bishop's statement.

Answer one of the following questions in about 150-200 words.

How is the island made to fall and rise ? What makes it do so ? 10

OR

Attempt a character sketch of the young commander of the ship, who gave a good fight at 10
Actium. (Gulliver's Travels)
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OR

Describe the experience of the three friends when they were caught in incessant rain.

OR

The author, Jerome is a lover of nature. Comment,

-ollofolo-
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SUMMATIVE ASSESSMENT — I
MATHEMATICS / Tiftra

Class — IX / =& -
frertfie v : 39U siferdhay 3 : 90

Time allowed : 3 hours Maximum Marks : 90

g et
Mo Tl e e €

i) Wy wEd 3wy 5 vaaedia, g, w9, s adw T @oE-a ¥ 49
T s 1dE T, ave-a g ol e F 29k §, moe-a S 8T ¥
el vt % 3 ofen ¥, woe-g ¥ 10 v ¥ il 5% &% 4 ofw ¥ aen wos-a & qw ure
T A 3-3 AW T 2 T TUr4 &= w1 T

gy T v T R off weii e 79

(iv)  Sheigeied %1 wam whE )

General Instructions :
(i) All questions are compulsory.

(ii) The gquestion paper consists of 31 questions divided into five sections A, B, C,D and
E. Section-A comprises of 4 questions of 1 mark each, Saction-B comprises of &
questions of 2 marks each, Section-C ¢ mnprise& of 8 questions of 3 marks each and
Section-D comprises of 10 questions of 4 marks each. Section E comprises of two

questions of 3 marks each and 1 question of 4 marks from Open Text theme.
(iii}  There is no overall choice.
{iv)  Use of calculator is not permitted.

WUS-37 / SECTION-A
W T 1 6 4 TS H 1 HE ¢
Question numbers 1 to 4 carry one mark each. ,

1 ww ool A WYuM @l GREEEe ®§ AW wEl 5, Sdie WRd 99 Qw1 # aeEn Sfewew | el
W%lqﬁtﬁﬁﬁﬁa#ﬁ%ﬂwﬁm%mﬁmwmmﬁmw%:

i\ 'C+32tqﬁmw=r—40°03’raruﬂ TFge H argE S g ?

In some countries temperature is measured in Fahrenheit, wheraas in countries like India it is
measured in Celsius. Here is a linear cquation that converts Fahrenheit to Celsius:

F= (g) C +32.1f the temperature Is = 40° C then what is the temperature in Fahrenheit ?
\

2 wH 9§ AR A W ey W oum 3 : 2 o1 oW feafa o v we @ faw e w1
s e fafeu

Page lcf &



Ratio of 2= of a brother and sister Is 3 : Z. Represent this situation as a linaar equation in two
variables., If the surn of their agesis v’ vears.

3 T T AT TG W 150° €1 (Shaw Y o1 W i werd 1) | 1
Construct an angle of mensure 150° (using ruler and compasses only).
4 % T R TS awe 726 cm? ¥ 1 T I 6 SR 00 A 1

The total surface area of a cube is 726 cm”. Find the length of its edge.
EFTE-H / SECTION-B
W S 5 W 10F T % 2 FF T
Question numbers 5 to 10 carry two marks each. .
5 @ ¢ ompfy , O figell A, B, CHRDA T T e W SR TN DC A 0w R E T 2
g T 1 afs £BCE =85 ¥, W £BAD ¥R £BOD T HFAT |

s, S

In the given figure, O is the centre of the circle passing through the points A, B, C and D and
DCis frcduced to a point E. If ZBCE=85", find Z/BAD and ZBOD.

" E
6 TR =S ABCD # 4o CD R g p 2w R wize 2
(1) ar (APAB) = ar (ARAB)
(i) 7% ar (APAB) = 8 cm2 ¥, W ar (ABCD) T FifICI
P and R are point on side CD of a parallclogram ABCD. Show that
(i)  ar (APAB) = ar (ARAB)
(i)  Ifar (APAB) = 8 cm? find ar (ABCD),
7 A A, OFAFER Y, LZAOB=60" 8 LCDB=90°%1 LOBC F hitoig | 2

f /E‘;("ch
\ A
\‘(/-’ D \\ :r

E
AT ""'}E

ixyﬂpn figure, O is the centre of the circle, ZAOB=60° and #CDB=90". Find ~OBC.

~B
8 AR SR T T T AT 216 7o’ §1 AR FER FF 9 om A, @ wiF A A TRO2
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The volume of a cone with circular base is 210 7w cm? If the base radius is 9 cm, then find ths
height of the cone.

9 U G %] &3 dI Thepl 741 991 GIOMT $H YRR #70 ; 2
W 3 1 |2 3 Ja [s 6
ARE 35 |45 |50 2¢ ! 53 29
for eI IS AT aTRIdeh U |
A die is rolled a number times and its outcomes are recorded as below .
Qutcome 1 12 18 |4 |5 6 |
Frequency 35 |45 [50 [38 |53 29

Find the probability of getting an odd numbe:.
10 U dn 1 400 R foen e formen R daa oftim A, B e C §1 AT sl @ duaeei w2
framé foren man | P # o Hvmed we ¥ (e e o i) o
(a) A-176, B-54, C-170
(b)  A-200, B-100, C-75
() A-180, B-170, C-50
(d) A-175, B-125, C-200
An experiment is performed 400 times and there are three possible events A, B and C
Possible occurrence of the three events are recorded. Out of the following which records are
possible (give reason to support your answer).
() A-176, B-54, C-170
(b) A-200, B-100, C-75
(c) A -180, B-170, C-50
(d) A-175 B-125, C-200
TUS-¥ / SECTION-C
WO HEAT 11 ¥ 185 Wls H 3 AWH 8

Question numbers 11 to 18 carry three marks each.

(53]

11 T T w1 ufiEA fafay, S R oxese 9 SumR 8 @R oy ¥ 2 e 49§ gue
FerE St
Write the equation of a line which is parallel (o x-axis and is at a distance of 2 units below x-
axis. Represent this graphically also.

12 Gl 2 (x—y)=4—y B ax+by=¢ & &0 1 fviay oK = fgsli & Pduis of 3@ #ifwg s 3
T HAF x 2Ry w1 27T e
Write the equation 2 (x—y) =4 —y in the form ax |
whers its graph cuts x and y —axis.

13 TS 10 cm T SEITEUE SR WITHY | R WY e I el ¥, T 4 WUER o Wit | 3
Draw z line segment SR of length 10 cm. Dividea it into 4 equal parts, using cornpass and ruler.

14 argia W, AB &R CD %= O 9/ 1 1 T Sian. o0 YR € % AB=16 cm, CD=12cm 3T AB |
CD#1 AROPLCD TR ABMROF s wli gl 6em &, A gu ol R AR co wt SO ¥ W
EIGIENIE f

by =c and also find the co-ordinates of the points

w
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In the figure, AB and CD are two chords of a circle with centre O such that AB=16 cm,

CD=12 cmand AB || €D, If OPLCD and if the distance between AB from O is 6 cm, find the
ral:ii_us of the circle and the distance of CTJ from centre O.

i : D
s b
o i

YT PQRS ¥ f®W Q5 3R PR WER O W W WHR Wome = 8§, @

ar (APOQ) =ar (ASOR) &1 woizu fF ps !l nQ ¥

If Q8 and PR ar~ diagonals of quadrilateral PQRS intersect at O such that

ar (APOQ) =ar (ASOR). Show that PS || RO

TF T F A o TRE TR AW T M 3 W OERUE 12 em ¥ A 1 o @i el

ETE T e |

On dividing the volume of a sphere by its surface area the result is 12 em. Find the diameter
of sphere and its surface area.

T St e H 33 sl % i (100 T Hsw g E

69, 48, 84, 58, 48,73, 83, 48, 66, 58, 84,

66, 64, 71, 54, 66, 69, 66, 82, 66, 69, 71,

81, 71,73, 69, 66, 66, 64, 58, 64, 69, 69

¥ RS 1 ALE "o 3 w9 H WEE

The scores (out of 100) obtained by 33 students in a mathematics test are as follows :

69,48, 84, 58, 48,73, 83, 48, 66, 58, 84,

66, 64, 71, 641, 66, 69, 66, 83, 66, 69, 71,

81, 71, 73, 69, 66, 66, 64, b8, 64, 69, 69

Represent this data in the form of a freguency distribution.

Frfafaa mitre § © v Thaetl & 80 R W1 T A0S T S0
I R 5 5000 | 6000 | 7000 | 2000 | 9000 | 10000
FROR B EEN (22 (18 (15 |10 [8 |7

Find the mean salary of 80 workers of a faciory from the following table :
Salary (in %) 5000 | 6000 | 7000 | 000 | 9000 | 10000
Numberof Workers |22 |18 115 |10 |8 i

WVE-F / SECTION-D
WO w19 W 28 F wEE W4 ¥
Question numbers 19 to 28 carry four marks each.
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A e g H sl g d e s fafan 4
fFrfifan § @ S p T o w T § 2

(a) x—y=0 (b) xty=0
59 @Rl 1 o &eee ol 96 S

Y

4.

3_.

94 T2

1_

v O I B
¢ 5 S
‘/fz.. !

P -3}
i)

Write equations of the lines q and r in the graph.

Which of the following can be the equation o line 'p’?

(@ x—y=0 (b) x+y=0

Also, find the area enclosed between these lines. __

fereft wee & Serelt o1 femran g9 wehnt § vt fepciivfien & forg firTran 7 10 % qon ag &6t it & o, 4
T 6T km T T B T G B x ki SR G 01 &1 € y o gU, 59 WE F o, U Ew
TR feafiay e Sweht e @it | T €, 79 1 T o 9w, af g Reram @ 2o )

The taxi fare in a city is as follows: For the first kilometre, the fare is € 10 and for the
subsequent distance it is ¥ 6 per Jun, Taking the distance covered as x km and total fare as € Y
write a linear equation for this information, and draw its graph. Also, find the distance
travelled, if total fare is ¥ 70.

Rt F R rd v weii s awgrE s m e i fed & 4
faig W sfafta %o 1 g0 o ¥

Prove that the angle subtended by an arc of a circle at the centre is double the angle subtended

by it at any point on the remaining part of the circle.

ABCDTH T ¥ ABRMEM W woR § % AM=MBR®| ST AD SR ¥ W CB W fiz ¢ 4
HRQFW UHK § & CM L PQ &1 TORT ar(ACPM) =ar(A CQM) ¥

D— -
4
Pl
f'fr
ik
|
Al g
M
Q

ABCD is a square. M is the point on AB such that AM=MB. P and Q are points on sides AD
and extended CB such that CM L PQ. Show that ar{(ACPM) = ar(ACQM).
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22 ABCD ! T Fi, B BC=7.8 am, £B=70° $R CD-BD =4 em bl 4
Construet ABCD in which BC=7.8 cm, /B =70° and CD -EBD =4 cm,

2 ¥ % e G AR ¥ ¢ faom G 50 om IR I 91 em ¥ T B W AR 4
(qfrm Fw) ¥ TR W OFF o W ¥ ¥ wver §, fome  framd
15mx1mx95cm I 7 ¥ T & qz0 Hl € & e §, Pl fim wrh e A €
(a) 2R o w5 S e i w0 s I vT T & e B T U € g
E W g
b WEmEEmisHigE@ETi (r= %% 1 74 =)

- Suman’s house has an overhead tank which is eylindrical in shape. Its radius is 50 ¢em and
height 91 ¢m. This tank is filled by pumping water from a sump {an underground tank)
which is cuboidal in shape. The dimensions of sump are
15 mx1 mx95 cm. An overflow pipe of the tank is connected to the sump to avoid any loss
of water due to averflow,

()  Find the height of water left in the sump after the overhead tank has been completely
filled with water from the sump which had been full.

(b) What value is depicted in this problem 7 (Use 7 = %)

% % WA W 4 wEw & oA w10 TR wls § gwg fen wn fem femd o
0mx5mx3mEl & st =iE B froe F ow = 3 fmom w5 w1253 Wm?
T T T TR R |
Bags containing rice were stacked in the shape of cuboidal blocks in an open field and these
blocks are covered with tarpaulin. If there were 10 blocks each having dimensions 10 m 5
m 3 m, then find the cost of tarpaulin used to cover these blocks at the rate of Rs, 12.5 per
m. ’

26 af o Aer 1 FAE, T F TAE § AR TR 58212 em? ¥, W TR o T gl SRE 4
TS SAwE I R
If height of the cylinder is equal to its diameter and the volume is 58212 cm?, then find the
curved surface area and total suzface arce of the cylinder.

27 et feEr TR TE BT Y UE L H 95w w9 F 2000 TroseR st w e o fafie 4

- ma@ﬁﬁmmmﬁﬁﬁﬁ:ﬁ#m%ﬂﬁﬁﬁm,ﬁﬁf&mw%:

T g (ol °) | T wEe l

0 |1 |2 |3 [suaius
18-29 440 | 160 | 110 | 61 | 55
30-50 505 | 125 | 60 [22 |18
50 ¥ TR 360 |45 |35 [15 | D9
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U =i agiess w9 | T A ¥ g wiivsg aa wifsg

(a) T RN S &Y TR (18- 290)W § v 30 ARl T i 3 AW wee R §

(by T geT AT AT TR (30-50) %1 ¥ Tu = 2 W we atfyw A et wmem fEm g
(¢) =B guwfm T e o i agee w91 mmd

(@) 9 gen i 50 o | T E qun SWH T U AR A 8 s fEe

A job company selected 2000 software engincers at random in a city and surveyed about the
number of jobs changes by them in their career in different age group, which is given below :
Age Group in years | Change in Job

0 [1 J2 T3 |overs
18- 29 440 | 160 | 110 | 61 | 25
30-50 505 | 125 | 60 | 22 | 18
Above 50 360 |45 |35 | 15|09

A person is chosen at random from these engineers. Find the probability:

(a) that the person selected is from the age group of (18 - 29) and has made exactly 3

changes in the job.

(b) that the person selected is from age group 30 - 50 and is having 2 or more than

2 changes in job. ‘

(c) that the person selected had not changed the job at all,

(d)  that the person selected is above 50 and has changed at least one job.
2 fqefefad e =91 ® 0 WE-foa g Ak e e SE wd @ atd f o 4
—= = 0-10  [10-20 2030 |30-40 |40-60
= e T T 23 35 20 "[Tﬁ"
7 dHiwgl & a7 F v F i st
The following table gives the pocket money (in Rupees) given to children per day by their

arents : o
Pocket Money 010 - [10-20 [20-30 [30-40 [40-50 |
No. of Children [ 12 23 8 |20 10 |

Represent the data in the form of a historgram.

GUE-T/SECTION-E (Ih WIS /Open Text)
(o g @ o B Swdw e o7 g9 weEweil W U0 & W Saot 9)
(* Please ensure that open text of the give: theme is supplied with this question paper.)
fawg @l # s et @ e sy Prafo

Theme : Solving Mysiery of messed up fields.
29 #ii®T ® ©@d ABC T WiHC f& 24 =50° /2 = 60° N £C =70°%| 9 BC, AC AR BA & 3

uw-fig D,E SRF¥ LDEF T Hifom

In Oonkar's field ABC, let £4 = 50° 22 = 60° and £C = 70° If midpoints of BC, AC and BA
are D,E and F, find angle of ZDEF.

30 fag FIVY % FedFREY & @d & 950« o= §96 1) 3

31 s wIfWL % #leR % @d ABC &1 gawe & =w-fag & el fee W o W) fage 4
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Prove that four triangle formed by joining,

field ABC are congruent to each other.
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9SHMBAD
Herfera uiter - 11
SUMMATIVE ASSESSMENT - II (2016-17)
SCIENCE /fag=
Class - IX/eR&dT - IX
Fruffta w8 : 3 qU sfere 39 : 90
Time allowed: 3 hours Maximum Marks: 90

wrar=r fre

(i) € W T 1 T W, -3t smerew e v o wiler w0 ¥ 1 el i i & el o I e §

(i) = v e

(if)) S -, W ST v T e e quw- o fere w

(iv)  wrr-ar & v se | 9 3 % w ua-wm ol & § 1 6 IO v s o wre # E

(v) \ITTT-31 % WY TON 4 9 5 T gF-gf HeRl & €1 $ Iat @ 30 =i F 4

(vi) -3t ¥ w s 6 9 16 % TV oo v % §1 ok e e 50 yref A 2 8

(vii) — wmr-a1 & we e 17 9 21 % v die-uie af & §)1 g 3w ormm 70 greft 7 43 §

(vil)) om-= F @7 W, v A 22 R 24 4w WS T ImIE § 1T uw Wem 22% 2 ofw, ue den 239
3 af® AW 24 F 5 F §)

(ix) W i W T 25 ¥ 33 % W W e W A agladed we € wed v v oiw w1 § i
T aR faered] § R 9] e avgE fawe g #)

(x)  W-R & T wOn 34 | 36 % W W i TSI di-dt et & wer 1w aw e 30 ey A

FE

General Instructions :

(i) The question paper comprises of three Sections, A, B and C. You are to attempt all the
sections.

(ii)  All questions are compulsory.

(i)  All questions of Section-A, Section-B and Section-C are to be attempted separately.

(iv)  Question numbers 1 to 3 in Section-A are one mark questions. These are to be
answered in one word or in one sentence.

(v)  Question numbers 4 and 5 in Section-A are two marks questions. These are to be
answered in about 30 words each. -

(vi)  Question numbers 6 to 16 in Section-A are three marks questions. These are to be
answered in about 50 words each,

(vii) Question numbers 17 to 21 in Section-A are five marks questions. These are to be
answered in about 70 words each.

(viii)  Section Bhas 3 OTBA questions. Question number 22 is two marks, Question
number 23 is three marks and Question number 24 is five marks question.

(ix)  Question numbers 25 to 33 in Section-C are multiple choice questions based on
practical skills. Fach question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in section C are two marks questions based on practical

skills. These are to be answeted in about 30 words each.
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10

YTT-37 / SECTION-A
welrstendl §aEeE | o9 w1 waed &1 fawan # fofew)

What do you understand by valence electrons? Explain.

fepforfes et & Wt au dfed T fefa

(a)  HifgEn (b) R

Write the symbol and latin name for the following elements :

(a)  Sodium (b)  Polassium

e Pt BT WeaIfer weilal b iR § =il A 7 T wene e

Mention the modification made by Carl Woese in Robert Whittaker's classification of living
organisms?

18cm THAT 9161 U @R F T T TEEE 70 g §I TR A FA Bl

The mass of an iron cube having an edge length 18emis 70 g. Find its density.

w  ug fE® e WEEgM % W et s # @R I@er ol
25 vaR g #1 Ak ag A s #1 Wi 340 m/s § @ W =R @ AgEe @l gl 9
wifeu] '

A person claps his hands near a cliff and hears the echo after 2 sec, If the speed of the sound
in air is 340 m/s, find the distance of the cliff from the person.

(1) @OAE A 9 = o el e Te ao (S R Q) s s e & f
TE FA? <) BT e B §Y AT IR T AT HIA
(b) ORE T T WA % T W ] v W e F AT S T o A aen wdle

fatEm |

(a) Why did Rutherford choose gold and not any other lighter element (such as
aluminium) for his experiment 7 Explain your answer giving two reasons.

(b)  Write the name and symbol of the particle chosen by Rutherford for bombardment

against the gold foil in his experiment.

g1 % el % weEm] Fhoia % reegel sifvudla s ST

State three significant postulates of Dalton’s Atomic Theory of Matter.

T @1 g fafa | S AR W A R T e w6 wiigd st

Cut, Quh ¥, B ALt S

Define  valency. Classify the following cations on the basis of their

~ valences :

Cat+, Cutt, N  Alt*+

’ 9’
WHIF qY1 TG A 3 weg w fagetl # faieT Fifw) aeh w1 o semn S |
Differentiate between communicable and non-comumunicable diseases in two points. Give one
example of each.

TTH-A ¥ ) fafere e fafan ) 5@ 9 % us var &l A4 fafee S gea et A
fam AT FER &1

Write two characteristics of kingdom - Plantae. Mention the name of one subgroup of plants
that do not have well - differentiated body design.

Page 2 of 10
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11 HIV AR e i TR g s § aen gt saf ) e R AT 7 3
How does HIV virus affect the body and kill the affected person ?

12 Wﬂ'ﬁ'ﬂiﬂmﬁﬂ‘ﬂﬂ?ﬂwﬁﬂﬁﬂﬁWW@WIW%W?IMH%WH@ 3
500 N R % U T G oA T AN W Wew 9 WOn wer T qiei Hifsre 7 TAEH

g w1 T SEEE 25m? 8
Give the mathematical formula that relates thrust and  pressure. Define

1 pascal.
Caleulate the thrust and pressure exerted by a block of 500 N on the surface of table if the

surface area in contact is 2.5 m?.
13 A o o wee geeol F Preaw & o < gus s it 3
(a) [ e g fafvel srepfE w1 2 et a |
(b) T sigfe e fafien star &1 < et o
() fafimr syefiei i fafim st 1 ) e dot
Draw two separate diagrams to represent each of the following cases :
(a)  Two sound waves having the same amplitude but different

. frequencies.
(b)  Twosound waves having the same frequency but different samplitudes.
(¢)  Two sound waves having different amplitudes and also different frequency.

14 s = frmid ooe R | T fosia % < sy FeEd | 3
State Archimede's Principle, Explain its two applications.

15 o5 KW T U R § T R swa far s 1 frd sl 1 gl @ ww wEdd (30 3

' Fer) 1w oRERT W AR TE R W T €350 € A ww i F 9w fad

1 gfr = e o ufesfaa wif :
A geyser of 2.5 KW is used for 8 hours daily. Calculate the monthly consumption (30 days) of
electrical energy units. Also calculate the cost of electricity units consumed in a menth if rate
per unit is ¥3.50,

16 o o A S e & sl sue fremed e W A 5 km T firarsft 4 3@ feem W F 3
ﬁﬂﬂ@ﬁﬁﬂaﬁwmﬁmﬁmﬁﬁmaﬁ?ﬁn
(i) v T TR e & A PR w1 Sl wiaw ga
(i pla & fawa & e w1 ey fehrerd § 7

(i) U S e fred T v & ferg dnmer & W ¥

Ravi lives in a village and his school is 5 km away from his house. His father suggested him
to buy a scooly to go to school but Ravi opted for a bicycle.
(i) What kind of energy transformation takes place while Ravi rides a bicycle ?

(i)  Whatdo you conclude about Ravi's nature ?
(i)  Suggest one way in which you can contribule to the environment.

17 i 2t T e T v AT Ty R weEl % e fafe : 5
ET soRA | WiEH =z
M 3 3 4
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N 10 9 10
O 8 8 i
P 8 8 10

(a) vl M, N, O 7 P 1 g s fafe |
(b) TR il § A G RO T R
Study the table given below and answer the questions that follow :

Particle | Electrons | Protons | Neutrons
M 2 3 4

N 10 9 10

@, 8 g 8

P 3 8 10

(a)  Write the mass numbers of particles M, N, O and P,
(b)  Selecta cation and anion from the above table.

18 siqell 3 e wigerH 7 O T WA AR Fhe g
(a) o whgerE A ferfE
(b) TS el et g 7
() T wed fafau)
(d) ¥ e weifew & St % AW fafan )
A new feature notochord appeared in a phylum of animalia.
(a)  Name the phylum.
(b)  Where is notochord located ?

(c) Write its function.
(d)  Name two organisms belonging to this phylum.

19 Tl gl R

aTsiE e T L
(a) : e
)y | e
B — - ST
d) | e T
® — v
Complete the table :
Group of microbe | Pathogen Discase
(a) S N e
(b) _ | Trypanosoma
() Kala azar
(d) Hepatitis Virus
() HIV
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20 fwd g ® TS W g HEE F @A 120 m # h W T g U A GR T CLIE I
TWE A 120 m T T a7 g o
= Eoenry ?,"ﬁ%fﬂ: .
(a)  wwEnEu FF HAIS #1 A vEe fREEw g i
(b) T W WM Wbl s R el
(c) aft ety T aw T A 2 A% & wwa o § A e gk g ¥
wug w?
)  woEe st & s fafer
(eafy # =@ g 344 @A 0 I@ H 1533 H/E)
The sound of an explosion on the surface of a lake is heard by a man 120 m away and a diver
120 m below the point of explosion, Answer the following :

(a) Explain who will hear the sound of explosion first?

(b) What is the audible range of human ear?
(c) If sound takes 2 sec. to reach the man, how much time will it take to reach the diver?

(speed of sound in air = 344 m/ s and water 1533 m/s)
(d)  Write any two applications of ultrasonic waves.
21 () . TOTE ¥ U & SN UH WAM a1 o § afwie ¥ @ il el @ s S

ferfiu) Tat o1 7 ferf@w

(b) aﬂﬂﬂaﬂmﬁaﬁﬁmﬂg@ﬁﬂﬂaﬁwmﬁmmﬂwaﬂmwﬁmm
at ufcafiy T Tl 1 GRS TR Sl | ou 9 i

(©) uﬁawmawﬁaﬁﬁmﬁngmﬁ&nmﬁwaﬂmmﬁﬁmma
yfeafda s Tot &1 yriaE TS W § ST S R

(a) Write an expression for kinetic energy of an object with mass # moving with uniform
speed v. State its ST unit.
(b)  Keeping the velocity same of the mass of the object is haved of its limitation value, find
the ratio of changed kinetic energy to the original kinetic energy.
(c) Keeping the mass same of the velosity of the object is reduced of its limited velocity,
find the ratio of changed kinetic energy to the original kinetic energy .

- (476 Uis ) /SECTION - B (OTBA)

(* Please ensure that open text of the given theme is supplied with this question paper.)
o : S srativg wEuw

Theme: Solid waste Management

22 W%Wﬁwﬁﬂwnnﬁaﬁaﬁﬁﬁﬁ%mﬂﬁﬁ@m| 2
List any two occupations which are severely affected by improper disposal of waste.
23 gpnmﬁqamﬁaﬁlEpnéﬁmﬁmeuﬁmﬁmmm%? 3

Expand EPR. How can EPR mahagement be made more effective?
24 sl H e ot T 1 S R FrTEdl 7 F1 @ R e deel 75% & SN A 25% S

mﬁ@w?wmﬁmﬁwmﬁm%?ﬁﬁaﬁmﬂmﬁﬁ

Page 5 of 10



s @ froer @ o fom Fdw ¥

Which are the five types of solid waste generated in cities? Which type of solid waste
collection is only 75% and the rest remains uncollected? Where is this garbage mostly
generated? Which act frames the guidelines for collection handling and disposal of solid

waste?
HT-T/ SECTION -C

25 aﬁ%waﬁﬂﬁﬁaﬁﬁwﬁamtmwwﬁnﬁﬁmﬁﬁwﬁlwﬁmﬂﬁl
me#mmwmmﬁm
IR A e

& &l A =
o i

(@ FEAE

() Tofim o = &

(©) e g den @

(d) UG A A

For verifying the laws of reflection of sound, a student set up his apparatus. To get the
experiment performed successfully the reflecting surface should be :

O T, R
surface

Souirce Detector
of of
Sound Sound

(a)  rigid board.
(b)  wooden board with many holes in it
(c) foam padded board.
(d) sheet of cloth.
26 %ﬁﬁtmmmwmﬂﬁmwwm%ﬁmmmﬁﬁmmmﬁ 1

@) e H el el A,
(i) T ¢ e e

(i) RS H Y A

(v) ek o H R e A
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(@ () (i)

B @)

() (i)

(d)y ()T @)

To ohserve and compare the pressure exerted by an iron cuboid, the following apparatus is
available in the laboratory.

(i) Completely wet sand in a tray

(i) ~ Moistsand in a tray

(i)  Dry sand in a tray

(iv)  pebbles mixed with sand in a ray.

The best choice is :
(@ (i) and (i)
(b) (i)
@ (i)
(d) (i) and (iv)
27 T e G Bl © L
(a) e R A (b) =T & s e
() hew s H (d)  ew g H
A pulse transmils :
(a) In small part of medium (b)  Inlarge part of medium
(c) Only in water (d)  Only in air
28 ﬁﬂﬁmmA,BamCﬂﬁﬂ?mhﬂﬁﬁﬁiﬁﬁﬁﬁmaﬁﬂﬂml
~ifge ?

(a) A — BA ; BHAWE C — BEEEd
b) A-—EE ; BT C - BfEpid
© A=A B—afmgd ; C— 3W9E
(d) A—3E B afamgd ; C—+ BF

A N

The labelling of parts A B and C shown in the figure should be as given
m:

(a) A — Pileus ; B—Gills ; C— Stipe

(b) A — Gills ; B—Pileus ; C — Stipe

) A—Tileus ; B — Stipe ; C— Gills
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(d) A—Gills ; B—Stipe ; C— Pileus _

29 mmﬁww@@wmmwmmmmmwﬁﬁﬁ/ @ o1
ceeT TRV fAaE & AT
(a) TSI T TANH = i SIS ] = + Y o1 GAET
(b) EEGEREE A R =T CRAEEmEE ol TEEH +
Al + wiel 0l ZeaHH
)  TESE | EEriC + Al <l =
FE ERATFIES 1 SFAM + Slcl Sl THEEN
(d) wEH  EEslEEE  H o FeE 4 affgils W geWN -
TESIwE & ToHHM + ST S JEH
On complete combustion of a hydrocarbon in sufficient oxygen, carbon dioxide and water are
produced, Then according to the law of conservation of mass :
(a) Mass of hydrocarbon =Mass of Carbon dioxide + mass of water
(b)  Mass of hydrocarbon = Mass of Carbon dioxide + mass of oxygen + mass of water
(c) Mass of hydrocarbon + Mass of oxygen = Mass of carbon dioxide + mass of water
(d)  Mass of oxygen + mass of carbon dioxide = Mass of hydro carbon + mass of water

30 Wﬁmmm%ﬁmwmm%mﬁﬁﬁﬁmﬁﬁﬁmm% 1

@@ o sifufmn (b)  foreame afufea
() st i (d) foetwm sfulsean
To verify the law of conservation of mass in laboratory the best selection from the type of
reactions given below is conveniently studied by :
(a) decomposition reaction (b)  displacement reaction
(c) precipitation reaction (d)  redox reaction
31 t:asﬁ’titAﬁqﬁﬁﬁmﬁmﬁm%HmMWﬁsﬁq@ﬁilwﬁaﬁaﬁﬁﬁﬁ 1
wmmﬁmﬁma%jmsﬂi’ﬁgﬁﬁsﬁq@%lmmmﬁm%wmm%ﬁqmm
H 9 o o H TMT I ST © 7
@ g A fedls T €
) e B U A &
iy iver A # Tpen g € ¥
(iv) i B & 21 AsgA T I F
@ @ (b) (i) (© (i) d )
Plant A has leaves with reticulate venation and its flowers consist of 5 petals. Plant B has
leaves with parallel venation and its flowers have three petals on the basis of above
observations which of the following given statement needs correction.
(i) Plant A is dicot, plant
(i)  Plant B is monocot plant
(iti)  Plant A consists tap - root

(iv)  Plant B has two cotyledons.
@ () (b) (1) () (i) @) (v
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322 T CEATE O @ sidld w@ s §, i T uw e o 1
(a) qEren wtg wfga Freed o
(b) Wier =g wfEa Bl gel
(c) SR frufa=rg wfgd feeft @
(d) Sferermarg firfe=ma wiga d9m Fa
Maize is placed in monocots as it bears :
(a) trimerous flowers with tap root
(b) trimerous flowers with fibrous roots

(c) trimerous flowers with reticulate venation
(d) pentamerous flowers with reticulate venation

33 oW R e A i R % S eer e 1
(a) e (by TS
(€)  ®I (d)  smfaam
Changes that occur during the development of adult from a pupa are called as :
(a)  isomerisation (b)  somersaulting
(c) metamorphosis (d)  adulteration

34 Pt 2 ® R A B0 B WA sEeen # 2 $ wAFRR gon § werr & e I e 2
ST AT o fp YRIY 1 S SIET e S i 5§ TRy W gdH =ifgu

In a set up used to determine the weight of a solid the material of the string used to hang the
solid to spring balance should be of which material and how the solid should be immersed in

water 7

35 RS 3 frgre #1 fig et & vant B w0 % o, T B A S w1 R o & ferd i 2
gmanawﬁmﬁm@naﬁmaa#qyﬁmﬂmﬁﬁgﬁ‘mwawé‘mmmmﬁ
ww SAvitE faferer ® wwa foan ran, Star 5 fom & awifan man &

D

10
20

40
50

70
80

E

100

For performing an experiment to Verify Archimedes' Principle, a student used a spring
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balance to measure the weight of a solid as shown in figure. The solid was then lowered in
water contained in a overflow-can and the waler diﬁplacud by solid was collected in a
graduated cylinder as shown is figure.

-

0 g 0 £ g
10 10 |-
20 |E 20 -

SHpks 2

Find the volume of the water displaced buy the solid

36 foreft 3rm T g fareenfys &t &1 R T FE F vEN T, 98 ey R F ol s d e 2
819 T gofaan sie1 H geEra ST a91 39 Wi | 3 s Al a0 o | N TR e a6 2
While conducting the experiment to measure the weight of water displaced by the body
precaution should be taken to immerse the solid in water without touching the walls or

bottom of the container. Why 7

=g{lolollo-
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5A-II (CLASS-IX) 372017
SUBJECT : FRENCH

Time : 3 Hrs. M.M.: 80

General Instructions :

(i)
(ii)

(iii)

Q1.

.l

Read all the questions very carefully.
Write the Serial Number of the question before
attempting it.
Attempt all the questions.
SECTION-A (COMPREHENSION ECRITE)
Lisez le texte et répondez aux questions suivantes :-
La naissance du cinéma

Actuellement, nous ne pouvons pas imaginer la vie
moderne sans le cinéma. Nous pouvons peut-étre penser
que le cinéma est aussi ancien que le théatre. Pourtant,
I'age du cinéma n'est pas trés long, il n'a qu’ un peu
plus de 100 ans. Dés le début, le cinéma est consideré
comme une merveille.

Lorsque les premiers spectateurs ont vu les premiers
films. ils étaient trés surprise de voir les images bouger.
Les films étaient courts mais pleins de surprise. (uel
¢tonnement pour les spectateurs! Ils voyalent les fenilles
des arbres remuer sur l'écran et les dames avaient peur
de voir un train entrer dans une gare.

Le cinéma moderne a tellement changé depuis le debut.
La technologie moderne lui a apportée un ari
cinématographique trés avance,

Complétez avec un mot/des mots du texte:  (4x1=4)

(i) Quelle | J'ai gagiic le premier prix. (vie/
surprise/spectateurs)

(1)



(i) Linformatique. cestla moderne. (gare/
iechnologie/déebut) d
(iii) 11 faut aller ala pour prendre le train.

(cinéma/ecran/ gare)
(iv) Elle chantait bien! (tellement/ lorsqueé/
ancien)
A1.2 Trouvez dans le texte : (AxVa=2)
(i)  Le contraire de <<ancien>> et <<derniers>>.
(i) Un autre mot pour <<maintenant>>.
(i) La forme infinitive du verbe <<étaient==.
A1.3 Dites vrai ou faux : (2x1=2)
@ Lage du cinéma est trés long.
() Le theatre est considéré comme une merveille.
Al.4 Répondez aux questions (2x1=2)

() Est-cequele cinéma moderne a-t-il changé depuis
le début?

(i) Qu'est-ce qui se passé quand les premiers
spectateurs ont vu les premiers {ilms?

SECTION-B (EXPRESSION ECRITE)

Q2. Ecrivez une lettre 4 votre correspondant indien lul
décrivant une féte francaise. (80 mots) (10)

ou

Ecrivez une lettre & votre oncle et décrivez comment
vous avez passt volre anniversaire, (80 mots)
Q3. Reécrivez le dialogue en ordre : (5)
Le crémier : Merci beaucoup ¢t bonne journee ;
Moi . Ah oull Je veux aussi six ocufs, Ca fait |
combien?

(2)



Q4.

Q6.

Q7.

Le crémier :  Bonjour! Comment pourrais-je vous
aider?

Moi : Voila l'argent.

Le crémier © Ca fait 35 roupies.

Moi +  Donnez-moi un litre de lait.

Le crémier : Voila! vous voulez autre chose?

Donnez la receite dun dessert indien. (5)

Votre ami vous a invité a son annivérsaire mais vous ne
pouvez pas y aller car vous étes malade. Rédigez un
message de refus. (30 mots) (5)

SECTION-C (GRAMMAIRE)
Mettez les verbes au temps convenable : (5)

(() Demain vous ________ (devoir) apprendre les

verbes.

(i) Anne et moi, nous (lire) I'histoire

ensemble.

(iif) Lasemaine derniére. Pierre (acheter) son
billet pour Lyon.

(iv) Si tu finissais ton travail, tu (pouveir)
sortir.

(v) (se dépécher), sl e plait!

Retrouvez les bonnes phrases ! (5)

(i) bun,fje/un/vais/mn1;111,fachetcr.

(i) dans/la/sont/papiers/ tes/boite.

(i) 10h/partirons/nous/a/demain.

(iv) le/aime/le/monde/tout/concert.

(v) font/pas/attention/d’/ etudiants/les/ne.

(3)



S

Q8.

Q9.

Q10.

Q1.

Remplacez 168 mots soulignés avec les pron 8
personnels : (5)

(i Mon mari achéte la voiture rouge.

() Lameérea donneé des geufs aux enfants.

4ii) Ellea donné une bonne réponse 4 son institutrice.
(iv) Paul voudrait aller a Paris.

(vy Nous nallons pas atl cinéma avec Paul.
Complétez avece des préposilions (5)

(@, en, prés, sans, sur)

i) Metstes cahiers ___ la table.

(i) 1 fait ses devoirs problemes.

(1) Le restaurant est de la gare.

(iy) Tupeux aller Marseille frain.

Compléiez avee les adjectifs possessifs : (D)

(i) Mes cousins regardent pholos d'enfance.

i) Elle porte nouvelle robe.

(i) Lebébeboll lait.

(iv) Que ferez-vous avec vieille voiture de
sport?

(v} Je prends déjeuner a sept heures.

Reliez les phrases €1l utilisant les pronoms rélatifs (qui.
que, ot) : (5)
() Nregarde la fille. La fille est debout devant le café.
(i) 0s parlent du film. Jaime le film.

({{j) Jaimece quartier. Iy @ de beaux magasins dans
ce quartier.

(iv) Achcte les pOMINES. Elles semblent délicieuses.

(v) Lisezce roman, Le romarl est intéressant.

(4)



@12, Mettes a la [orme négative : (5)

@14,

Q15.

(1)

(ii)
(iii)
(iv)

(v)

Vous avez mangé quelquechose au restaurant.
1ls boivent du vin.

Nous apprenons encore la musique classique.
Les enfants vont souvent & Nice.

J'al deja visite ma tante,

SECTION-D (LA CULTURE ET LA CIVILISATION)

013. Répondez aux questions suivantes : (cing au choix)

(5x2=10)
(i Nommez les chansons les plus connues de Céline
Dion.
(i) Qu'esi-ce que c'est «<les etrennes>>?
(i) Comment célébre-t-on la féte nationale francaise?
(iv] Comment s'habillaient les femmes dans les annees
807
(v) Qui nous sert au restaurant? Qu'est-ce qu'on lui
donne a la fin du repas?
(vl Que faut-il pour ouvrir un compte sur livret?
Reliez et récrivez (3)
A B
)  Parc de Djoudi (a)  retirer de I'argent
(i) Carte Junior (h) ceufenor
(i) poule (¢) les heures de pointe
(ivy marché (d) des légumes et des fruits
(v)  trop de circulation (¢)  grande fete du printemps
(vi) Paques ()  voir les oiseaux
Choisissez la bonne réponse : (3)
() Lajournée ce la Francophonie a leule .

(Le 20 mars/19 mars/17 mars)

(8)



Q16.

(i)

(ii1)

Le ___est un plat d'origine nord-africain

beaucoup aimé par les francais. (salade nicoi 1Y
couscous/mousse au chocolat)

La féte du travail est aussi la féte du
(No#l/Muguet/Nationale)

((v) Aujourd’hui. les jeunes achetent souvent les

vétements en au lieu d'aller au marche.
' lligne/frain/magasillj

(v) Au Sénégal, on visite la mosquee a ________
(Kaglach/Touba/St. Louis)

(vi) Le Premier Janvier on se souhaite «<_____>>.
(Bonne Anniversaire/Bonne Journée/Bonne
Année)

Dites vrai ou faux : (4)

(i) 11 faut se promener tous les soirs pour €ire en
bonne forme.

(ii) Si vous n'avez paé assez d'argent pour sortir, il
faut emprunter de l'argent de vos amis.

(iii) On doit apprendre a économiser de I'argent.

(iv)

1l faut prendre des repas avec sa famille.

(6)
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